$=1:50,000

.?;_11 oy

= AHB= *BH?HLJ:.—.E-‘]—?—M‘FZW&ZM?E

B .*EEB_*Bqu-J:.—.ﬁ-‘]—Hn‘Faso%mhﬁt

E: *EgBE*mTjt$J:Eﬁ-‘]$Eﬂ'F373§1ﬂ’.5‘E

: E REHB= *mTj(—T—J:nH—T-J‘mT36S§1M’.5E

3

: : B ABB= *mrjcsatnm%mnsgﬁlmﬁ I T H
[ zxmm= z:mrxwktacﬁkmﬁaou&zmﬁ [ zxmm= *mrj:+¢nm+,mzsy§1tm9e B oy,
| BARB= *WTk—T—J:mlﬂq—,ﬂTzes%liEi | /}\f LN il ,_/) m TJ\.\ T LB
W g .. ,’ / y s A
IR VA W ~=‘\:‘ f,“ i\
.'{?}I £ "“"/ X j .l) r‘:"’l‘}l : \\-
S { g}lr: \J . i | I."l!"' — i N
? b AN \[\\\\ PR A
& : \\ ( \= T
—w,l]] \ : F i 4 /’\ i WY ‘\ :
o W & Yo Yemmm W | e
CoEIG, ELERENSERREGF MR (KRES F25 WE, £105) 0—HBERBLTRELTVET .



